PN L& BEE B R

EFHEK. FOE

530 B s B TmTeme =
BB Ry A 2 3 36 |2 1 1
B — OB R S | 36 |2 1 1
BE—H%5 A4 36 |2 1 1
BE—IREE S %E 36 |2 1 1
NERSTiE 180 | 10 2 2 2 2 2
AFedE | 1EC CoHh YD 216 | 12 3 3 3 3
RHIRFE | g 44 |8 | 3 | 3 | 2
Hﬁiz A 144 |8 3 3 2
33.4% | BREEA 144 |8 4 4
AHLER 72 |4 1 1 1 1
Uik 90 |5 1 1 1 1 1
LB 108 | 6 1 1 1 1 2
IARALAX /T2 72 |4 1 1 1 1
/N 1314 |73 |21 |21 |15 11 5
¥ | BUBEER 144 | 8 4 4
i | e 216 [12 | 6 | 6
L | B A S AR 108 |6 3 | 3
f{; "‘g MBI A AR 234 |13 3 3 3 4
| o | TR 108 | 6 6
.:ﬁj E‘;] Bl CAD 234 [13 | 4 2 2 2 3
; 32% | /it 1044 | 58 14 15 14 8 7
W[ HTIIEAR S 180 |10 4 6
It ffj R THA SN 216 | 12 6 | 6
A [ mmrsor e 108 | 6 s | 3
6% | T2 | BREHIN TS ge 180 | 10 10
f/“ a5 540 | 30 30
AN 1224 [ 68 |0 0 4 15 | 19
it 3438 | 191 |32 |33 33 34 29




